Masses Of Atoms . 512 -515)

I. Atomic Mass
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1. Identify the masses of each subatomic particle.

Proton = { £ 79‘_6 y [O - .

Neutron = /é-?l'/q X {O-gq
Electron = 1.1053 » 10 "¢

2. Circle the letter of the expression that accurately compares masses of subatomic particles.

= o R T T ——

( a._mass of 1 neutron = mass of 1 proton " v S
IIth't?.' mass of 2,000 neutrons = mass of 1 proton @S ot Q,ood ,eq’__ltéﬂ_ﬂs' ‘ f lon \
c. mass of 1 electron = mass of 1 proton . .
d. mass of 1 neutron = mass of 1 electron S lec :
S~ysdewn

3. An electron’s mass is so small that it is negligible when determining atomic mass.

Circle One : False

4, Define the term atomic mass unit (amu).

Atomic Mass Unit— owe - torel €FR  Fle eSS o el cachin afom
(] oAU — { PN'&‘“\ o ( W"‘I‘U&.B

5. Define the term atomic number.

Atomic Number — *LL, hgyﬂ,lxc(_ d—p@ft)lﬂf‘ T LN N o\_,“ltjw\

<
6. Two atoms of the same element can have tl':&;m! numbers of protons.

Circle One : True ( Fals;;,’
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7. Circle the letters that identify quantities that are equal to an element’s atomic number.

a number of nuclei ——
/b, number of protons

¢. number of neutrons — ( E-C i P Ty &Srumtl .
( d. number of electrons— ' Jt;\’ AML LEX

8. Define the term mass number. @“k G\f@/

Mass Number ~ § o d’p the nuwler q-[: ¢ tonr + ho_u."}'rﬁﬁf;-
T~ —#\\0_ V\\k—cleu& O'Q PN c..lt‘.w\



9. Two different elements can have the same atomic number.

Circle One : True (\Tfalse )

10. Carbon with the mass number of 12 {(Carbon-12) is the most common form of carbon.

Circle One : Filse /o3« Corlon- 0w

I11. Isotopes [erge« amomnte (A

. Complete the following table.

r\.a."‘\-V‘Q.

1. Define the term isotopes.

Isgtopes - a.“'or-\s O'C J‘L-L -3 e,[e.m‘L Hhat- Lo—xﬁ J‘f-fm e+
hw*’-‘.}ﬂg O'Q' W“"‘DV\}‘

. Atoms of a specific element always have the same number of neutrons.

Circle One : True (Féfsé ( erga’JU Adeoa ~ JJ Mean‘JQ-)

. Every atom of a given element has the same number of _ o 4 bong & € (ec-:(m,\g

. Every atom of a given element does not have the same number of nestons

. How do you identify each isotope?

-n jﬂﬁqk

HQ [eww\:-[—* ‘Ql(o\»e:g\ Lﬁ, msg S vaw\Le_r

. All oxygen atoms have 8 protons. Circle the letter of the number of neutrons in an atom

of oxygen-18.

a 8
b. 9
c. 10
.18

. Define the term average atomic mass.

Average Atomic Mass — Wty HJ aJer-ee raast of 4he r\.)"zu.rQ_
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Isotope Boron-10 Boron-11 Magnesium-26
Atomic Number 5 Tl

I 26
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Mass Number

# of Protons

# of Neutrons

# of Electrons
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